o
hitp://aoki2.si.gunmaru.ac.jp/lecture/DosuL/sanpuzu-2.png
|
04 00 59°Rp ] s ] © .
o % ] ] @
o w, mma 1 @M i o
& a ~ ] @M&‘n 4 Wa%
omﬂ i @WM ’Qn“’u;,"awu"’d”%@: *
1 & T—
R | R e O
Jeoo T o S| |4 e .
oo Lo 1 e, .
4 ° o 7 ° ":“7 .
X X X
| |
X Y XY :
Cov(X,Y)=E[(X =5 )Y = 14)]
P a4 1 Hx x Y
r
_Cov(X.Y) (5
p=— p=—"= I S RV
-1<p <0 G-XO-Y S(—Z(X X) —Zx .
p=0 2
O0<p<l S5, :Z(y,y)Z :Zy2 ,@
p=1 SS
— _ B x[D.Y)
re A S5, - X005~ Sy 2
P % $Y n




Excel

Y p=-1 Y p=0 Y
o
0 90 0 R | 0926424
n“ TN o R2| 0858261 Y
o 00 %0 o R2 0.826764' T 4776341 3190487]
. 9050 ,0 o 14776341 3190487
o M o 152528 2 3968144  -172604
%o, o 32092557 -36240.7
X X 4 1733564 2201557
E 5 3567112 8596.774
2 102E+11 5.1E+10 2724859 0.000152 6 333023 70762.97
9 168E+10 187E+09. 7 2547174 -141604
Y p=-8 Y 11 110E+11 8 2070237 -29585.7
o5, : 9 4206652 -38392.2
% t 3 95% »v 950 950% 10 2413928 47598.18
ogQ0 o -109435 6820553 -160449 014307 -263727 44856.79 -263727 4485679
gnmﬂ‘h Py X 9227078 159.3518 5790383 0.000263 562.2287 1283.187 562.2287  1283.187 i% gggigé ; 12;3(1)92§
% n” o ui? X 2 7219.01 3257.642 2.216023 0.053913 -150.294 1458831 -150.294 1458831 —
. : ° uu: B
X
. X Y Hy: p=0  ( ) )
Hyipz0  ( ) t
(n-2) 2
Ho 1-r
. X Y Z n-2
0.9824
1-0.9651
25-2
X Y - _ 0.9824
t =———=2525
7 -2 n-2 t 0.0389
P=Pr{jt|>t,,}
X Y 100m -
toos = 2.807 < 25.25
z H, 1%
http://aoki2.si.gunma-u.ac.jp/lecture/Corr/corr.html
n
63.d°
ro=1-—4— Y= Kt AX + ¢
n(n“-1)
d=x-y, i=12--n

Y . EMIX1=8,+8.X




E[YI=p, + B, X

SSE=¢f =3 (-9

b B)= 20907 = 200, by -bx)*
of

~-23.(y,~b, -bx)

SS, =Y (x-%)? =Y x* -

SS, =2 (y-*=2 vy -

[0

&y

6b0 i=1
ox_ oy b = . W OR
b, g&()ﬂ by ~b,x,) SSWZZ(X_X)(V_V):ZXV_(ZTZ
;y,:nbuﬂalgx bl:;(xw_x)(y\_y)zssw
n n n 2
Sxy b3 b3 Lot Sy
=t = = bO =y- bli
df =(n-2) (n (by by
1 )
—e 2o ss, - Sxy)
SE=3(Y-Y) =S5, - ”
= —h,SS. :
Sy ~BrSSxy SE =S5 -bSSyy
— 66855808 (1.255333776)(51402852.4)
— 23281612
MSE
SSE n-2
() ~101224.4
s=+MSE = /101224.4 = 318.158




